1 = 3700 fr, The total distance is 2640 ft o f£ield edge, plus
vhe 1200 ft. of field length, or 3840 f£t, The woods provide
protection for L0% of the hedght, or 150 fr. 8o 3840 ft -
15¢ £t = 367D fr. roundad up to 3700 ft.

¥ = 0, since all residue was turned under.

Noiwr vofer to the wind erosion tables and flpure the loss for
March, April, and May. Use the Table for € = 3, T - 134,
and K = 1.0, Use L of 4000 ft. (Wote that the loss Is the
game as for L of 3000 ft,) HRead under the ¥V = 0 column, 2
logs of 6.7 tons/fac/yr. This would be rhe losg 1f 1t stayed
March all year. '

Hext, refer to Table 5, The percent of annual BWE for the
nearest reporting station, Ft. Bragg. is 20 for March. The
loss for March im 6.7 x .20 or 1.34 tv/ae.

Te figure the April less, refer to the tebla for C=10,

T=134, and K=1.0. Again, vse L of 4000 ft. and vader Y=0,
rend 13,4 tons/ac. The percent EWE for April is 14 (Table
gy, 8o 13.4 x 14 = 1.88 tonsfac. for the April soil loss.

To figure the HMay soil loss follow the sane procedure. {lzn
the wind erosion rable for £ = 3, I = 134, and K = 1, Use L
of 4000 ft,., V of 0, and read a lozg of 4.0 tfac. The FWE
for May is 3. so 4.0 X .05 = 0.2 tousfac., The total loas
For the period March-May is 3.42 toms/acre.

{1.34 + 1.88 + 0.2 = 3.42).

b. Refer to Table 6. HNote that the tolsrance for
cotton is 0.25 tons/ac, S§o the cotton is likely protected.

In Tyrrell County a field of Altaviste loamy fine sand has residuns
yurned under in late December. Corm 1s planted around April 1 and
the surface is lefr essentlally £lar. TFrom an aerial phote, you
determine that the unsheltered distance is 1800 fr.

a, What ig the soil laoss for the pericd Januarvy-May?
Procedurs
petermine factors for I, K, €, L, V.

From Table 1, note that I for Altavista losmy fine gand = 134,
The X Factor will be 1.0 for the entire peried.

From Tahle 3, note that ¢ for Tyrrell is 10 for Jenuary-April,
and 5 for May. The L facter will be 1800 ft.

$4nce the residue was turned, the V factor will be 0 at least
through April. For Hay, however, glve uredit for the corn
growth estimated at 500 ibs. per acve, Refer to chart 8 ro
convert 300 ibs, of standing corn to 250 ibs, of flat small
grain.
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Find the chart for ¢ of 10, I of 134, and 1,0 for K, ¥For
January-April, interpolate to get a rate of:13.2 tons/ac. The
per cent EWE is 12, 13, 12, and 11, resgpectively for Jauuvary,
February, March, and April. Bo, the goll loss is:

13,2 x .12 = 1.6 fov.January
13,2 % 13 = 1.7 for February
15.2 % .12 = 1,6 for March
12.2 % .1} = 1,5 for april

For May, the rate is 0.7 toms/ac., x .07 = 0.7 tonsfac. 8o,
the total loss is 7.1 tonsfac, for the peried.

Is the lose in April excessive for the corn?

Procedure

Refor to Table &. Note that the tolewxance for corn is 2.0
rons/ac. Therefore, the loss is not in excess of the crop
volerance,

Is the loasp excessive for the seil for January-tay?
Froceduirs

Hote in moils -5 {blue sheet) for Altavista that the gt 4g §
tonsfac/yr. Thus, the loss is excessive and should be reduced.

The landewner agrees to install a windbresk and LEmpOrary
measure to bring the loss to within "IV, What should be the
orientation of the windbreak?

Procedure

Refer to table 4. HNote that the wind evoslon direction is 203%,
The most effective barrler is a 90° sngle with the wind
direction. Thus 203 + 94° = 293°, So the windbreak should be
oriented along a line of 293°,

UYpon ¢loser examinaticon, It is dotermined that the £igld is
oriented along 260° and the landowmer wonld only place barriera
on this angle. What is the maximum £1eld strip width allowable?

Procedure

From "o" above, recall that "I" is 5 toms/ac./yr. A check with
the USLE showa a loss of 3 toms/fac,/yr. This leaves an
allowable wind erosion loss of 2 tonsfac. fyr.

Norte in 3z that February has the greatest wind ercsion loss.
{1.7 tons/ec.) This is 24% of the total wind ercalon 1088,
£1.7 divided by 7.1 = 23.9 or 24%). Twenty-four percent of the
allowabie loss of 2 tonsfac. = 0.48 or 0.5 tomsfac., which Is
the aliowable loss for Februsry. The EWE for February is 13%.
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Determine that 3.8 is the soil less rate of which 13% = 0,5
rongfac, (0.5 divided by ,13 = 3.8), This means that an annual
vate of 3.8 tons/fac., when dilacounted for the 13Z of the EWE is
the rate to find in the wind erosion table.

Nexr, select the table for ¢ = 10, 1 = 134, and K = 1.0, Undex
the & column, find 3.5, then read to the left under unshelteved
distance a distance of 100 feet, '

Now refer to chart 2, Remember that perpendicular £o the
prevailing wind divection (203%) 1s 293° (203° + 90°). Remember
also that the field alignment is such that the landouner 15 not
willing to place barriers at right angles, but will place them
at 260°, Compute the angle of daviation to be 33° (293° -260° =
33°).

With a stvaight edge, place one end on seale © 5t 33 and on
seale A at 100 feet. Read 80 feet on scale B, This means rthat
a barrler would need to be placed every 80 feet in order to
reduce the wind distance to 100 feet. This would reduce the
erosion to "IV,

Suppose It i3 deslred to keep ercsiom te zero to protect 2
semsitive crop. The farmer iz willing to plant seall prain
strips, again on the 260° angle, to accomplish this. How far
apart ave the strips to be spaced? '

FProcedurs

Tt hes been shown that barviers eare able to give full protectlon
to the dowvmwind side for up te 10 x its height provided the
angle of deviation is mo greater than et

Assume that the small grain barrier will reach 3 feet tall,
which would give a 30-féot protected distance, Agesln, refer to
chart 2. Recall that the angle of deviatlon Is 33, Place a
straight edge on 33 on acale €, on 30 om scale A, and read 25 on
acale B. This means that the strips would need to be placed
every 25 fuetb,

13
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CHART 3 . ' : Y502
Flat Small Grain Equivalents of Peanuts, Guar, and Sesame Residuss
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CHART 3-A

Fiat Small Grain Equivalents of Growlng Peanuts: Days After Emergence
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Soircar Armbrust & Lyles, 1884-unpublished.
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Equivalent fiat small grain residue (ibs, per acre}

CHART 4

1982
Flat Small Grain Equivelents of Winter Wheat Residues
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Equivatent ffat small grain residue {Ibs, pef acre}

CHART 5 1582
Flat Smatt Grain Equivalents of Growing Winter Wheat
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CHART 6

1582
Flat Small Grain Eguivalenis of Soyhaan Residuss
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Restdins are washed, sh-ared, 2ad placeg ox destrod for wind lunne! tests,
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Fiat Smafl Grain Equivalants of Growing Soybeans - Days After Emergence
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Eguivatent #at smatl grain residug {bs. per acre}

{HART 7

1882
Eiat Smali Grain Equivalents of Cotion Restdues
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